MATH 116: EXAM 02

BLAKE FARMAN
UNIVERSITY OF SOUTH CAROLINA

Answer the questions in the spaces provided on the question sheets and turn
them in at the end of the class period. Unless otherwise stated, all
supporting work is required. You may not use any calculators.
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1 (20 Points). Find the period, frequency, and amplitude of y = 4sin(3x) — 1, then graph
one period.
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2 (20 Points). Find the period, frequency, and amplitude of y = 3cos(2z) + 2, then graph
one period.
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3 (20 Points). Let f(z) = x? — 2z and g(z) = /.
(a) Compute (f o g)(x).

()= 7G00) = £@) = (%) - 20%)
= X~ Ux.

(b) Compute (g o f)(z). m_, |
(JfX0)= glfoo) = 3072x) = bz =Ixte2)

- u!}(— Y-z _

4 (20 Points). Determine whether g(x) = /5x + 1 is invertible. If it is, then compule the
inverse. Otherwise, explaz’n why it does not have an inverse.
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5 (20 Points). Solve the following equations for x.
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